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P 100kN/mM%BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
zhst 1.00 | 000 ~ 425 53.07 | RS | 000 ~ 4.25| 2.00 10.73 zhs 1.00 | .00 ~ 5.00 53.07 | #nSt | 5,00 ~ 6.00)| 2.00 10.73
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
zhst 1.00 | 000 ~ 510 63.51 | FhLs | 000 ~ 510 1.81 9.67 zhs 1.00 | 6.00 ~ 551 63.51 | #nst | .00 ~ 551 1.81 9.67
3 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 4.77 59.41 | =ns | 0oo ~ 477 1.76 9.40 FhLst 1.00 | 6.00 ~ 5.00 59.41 | #=nLs | 65,00 ~ 5.00)| 1.76 9.40
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ IMEEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ st ~ zhs ~ ZhnLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ IMEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ IMEBZD ~
zhs ~ st ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ st ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhLst ~ zhs ~ ZhnLst ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/mM%#8 %% ~ ImEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ st ~

B
H
M|



